13 17 19 19 17
2 @ 1% ©) 2% @ 1% ® 7%

@ 2

3
— 4—,
5

1
3t

9
5E_

19
20




ol HAZY] 12 35 om At 22 em AU, 0] HA2 )

Ul 9] ol o] gL oA,

7 7 7
@ 62—07cm @ 61—07(3111 ® 12% cm
@ 121—0 cm ® 24% cm

(7I2)+ (HZ)

3 3 15 12 21 7
37725 =335 T 255 = 555 = b3g(cm)
7 7 14 7
o Zo])= 6 4 6 — 19> — 19
(=4l 2el) 655 + 635 5% 75 (em)




o U AN AF 94 ZA sz = o274 gL o] gL e

ot | L8 vHIEUL e Fab L AU

23 39 9
@ @?)L @ QQL ® 15k
1= L 1—L
@ 40 © 40

_3+3+1_<24+15>+1
T 5 8 4 \40 40 4
39 10 49 9
0 o 10 ‘a®
4 9 32 9 23

go =AM—9-_]1—=9—"—-_-1— =1—(L
(B=52) 5 740 T40 40 40()




